

The Australian Journal of Mathematical Analysis and Applications

AJMAA



Volume 11, Issue 1, Article 15, pp. 1-10, 2014

SCOPE OF THE LOGARITHMIC MEAN

MURALI RAO AND AGNISH DEY

Received 1 October, 2014; accepted 18 November, 2014; published 19 December, 2014.

DEPARTMENT OF MATHEMATICS, UNIVERSITY OF FLORIDA, 1400 STADIUM ROAD, GAINESVILLE, FLORIDA 32611, U. S. A.

mrao@ufl.edu, URL:http://people.clas.ufl.edu/mrao agnish@ufl.edu, URL:http://people.clas.ufl.edu/agnish

ABSTRACT. A number 'a' is between two numbers x and y if and only if a is a convex combination of x and y, in other words, it is a "weighted mean" of x and y. Geometric mean, arithmetic mean are well known examples of these "means". Of more recent vintage is the logarithmic mean which has been considered in many articles in the literature. In this note, we first discuss some of its properties. Then we shall introduce the L function and explore the inverse of this function and its connection with the Lambert's Omega function.

Key words and phrases: Logarithmic Mean; L function; Lambert's Omega Function.

2000 Mathematics Subject Classification. Primary 26-02, 33-02. Secondary 60-02.

ISSN (electronic): 1449-5910

^{© 2014} Austral Internet Publishing. All rights reserved.

1. INTRODUCTION

The logarithmic mean between two positive numbers x, y is defined as :

(1)
$$L(x,y) = \frac{x-y}{\log(x) - \log(y)},$$

see ([1], [7], [9], [11]) etc. This is called a mean as it lies between x and y. The following integral representations appear in the literature:

$$L(x,y)^{-1} = \int_0^1 \frac{1}{tx + (1-t)y} dt,$$

$$L(x,y)^{-1} = \int_0^\infty \frac{1}{(x+t)(y+t)} dt,$$

$$L(x,y) = \int_0^1 x^\theta y^{1-\theta} d\theta,$$

see ([1], [6], [7], [9], [11]). In the next section we shall discuss some of the properties of the logarithmic mean. Most of these properties are available in the literature. We shall prove that logarithmic mean in n-many arguments (see [11]) is concave. An extension of Holder's inequality using logarithmic mean will be presented. We are going to use Neuman's integral representation to obtain a recursion formula for the logarithmic mean and will show that our formula agrees with the one obtained by Mustonen in [8], which involves computations using series expansions.

In the last section, we shall introduce the function $L(x) = L(x, 1) = \int_0^1 x^{\theta} d\theta$. First, we shall discuss various properties of this function. Then the inverse of the *L* function and its connection with the Lambert Omega function will be discussed. Lambert's Omega function, also called the tree function, arises in the solution of the trinomial equation $x = q + x^m$, first considered by Lambert in 1758 and later in 1779, Euler transformed this into a symmetric form and it has found many applications ever since, see [2].

2. **Properties**

Here we list some properties:

(2)

$$\min(x, y) \leq L(x, y) \leq \max(x, y).$$

$$L(x, y) = yL(\frac{x}{y}, 1) = xL(\frac{y}{x}, 1).$$

$$L(x, y) = \begin{cases} 0 & \text{if } x \text{ or } y = 0, \\ x & \text{if } x = y. \end{cases}$$

L(x, y) increases in each variable separately.

L(x, y) is concave in (x, y).

More generally for n positive numbers $x_1, ..., x_n$, the logarithmic mean $L(x_1, ..., x_n)$ is defined by

$$L(x_1, ..., x_n) = \int_0^1 x_1^{\theta_1} x_2^{\theta_2} ... x_n^{\theta_n} \mu_n(d\theta),$$

where μ_n is the "uniform probability" measure on the simplex: $\Delta_n = \{(\theta_1, ..., \theta_n), \theta_1 + ... + \theta_n = 1\}$, see [7].

Theorem 2.1. $L(x_1, ..., x_n)$ is symmetric. $L(x_1, ..., x_n)$ is concave in $x_1, ..., x_n$.

$$(tx + (1-t)a)^{\theta}(ty + (1-t)b)^{1-\theta} \ge tx^{\theta}y^{1-\theta} + (1-t)a^{\theta}b^{1-\theta} \text{ for all } t \in (0,1).$$

We only need to prove this inequality when $t = \frac{1}{2}$, as mid-point concavity implies concavity for a continuous function [due to Sierpinski]. Thus we need to establish the following:

$$(1+c)^{\theta}(1+d)^{1-\theta} \ge 1 + c^{\theta}d^{1-\theta}, \ c = \frac{a}{x}, \ d = \frac{b}{y}$$

Now, let $f(c) = (1+c)^{\theta}(1+d)^{1-\theta} - 1 + c^{\theta}d^{1-\theta}$, then $f'(c) = \theta(1+c)^{\theta-1}(1+d)^{1-\theta} - \theta c^{\theta-1}d^{1-\theta}$. Let c > d. Then, $(\frac{1+d}{d})^{1-\theta} > (\frac{1+c}{c})^{1-\theta}$, i.e $(\frac{1+d}{d})^{1-\theta} > (\frac{c}{1+c})^{\theta-1}$, i.e $(1+d)^{1-\theta}(1+c)^{\theta-1} > c^{\theta-1}d^{1-\theta}$, this implies that $\theta(1+c)^{\theta-1}(1+d)^{1-\theta} - \theta c^{\theta-1}d^{1-\theta} > 0$, hence f'(c) > 0, i.e f is increasing if c > d. When c = d, f(d) = 0, hence $f(c) \ge 0$ for $c \ge d$. Similarly, we observe that if c < d, f'(c) < 0, i.e f is decreasing here and f(d) = 0, hence $f(c) \ge 0$ for c < d as well. Thus we have $f(c) \ge 0$ for all c, completing the proof of our claim.

Now we use induction to prove the result for n positive numbers $x_1, ..., x_n$. The case n = 2 has been done above.

Induction hypothesis: Let us assume that when n = m we have :

$$\prod_{i=1}^{m} (tx_i + (1-t)a_i)^{\theta_i} \ge t \prod_{i=1}^{m} x_i^{\theta_i} + (1-t) \prod_{i=1}^{m} a_i^{\theta_i}.$$

Now let $S_m = \sum_{i=1}^m \theta_i$ and n = m + 1. Then,

$$\begin{split} &\prod_{i=1}^{m+1} (tx_i + (1-t)a_i)^{\theta_i} \\ &= [\prod_{i=1}^m (tx_i + (1-t)a_i)^{\frac{\theta_i}{S_m}}]^{S_m} (tx_{m+1} + (1-t)a_{m+1})^{\theta_{m+1}} \\ &\ge [t\prod_{i=1}^m x_i^{\frac{\theta_i}{S_m}} + (1-t)\prod_{i=1}^m a_i^{\frac{\theta_i}{S_m}}]^{S_m} (tx_{m+1} + (1-t)a_{m+1})^{\theta_{m+1}} \\ &\ge t(\prod_{i=1}^m x_i^{\frac{\theta_i}{S_m}})^{S_m} x_{m+1}^{\theta_{m+1}} + (1-t)(\prod_{i=1}^n a_i^{\frac{\theta_i}{S_m}})^{S_m} a_{m+1}^{\theta_{m+1}}, \end{split}$$

hence the theorem is proved.

Extension of Holder's Inequality

Theorem 2.2. Let f, g be two positive integrable functions. Then $\int L(f, g) \leq L(\int f, \int g)$.

Proof. Let $0 < \theta < 1$. Let $p = \frac{1}{\theta}$, $q = \frac{1}{1-\theta}$, then $\frac{1}{p} + \frac{1}{q} = 1$. Holder's inequality gives us: $\int (f^{\theta})(g^{1-\theta})dx \leq (\int f)^{\theta}(\int g)^{1-\theta}dx$.

Let μ be a probability measure on (0, 1). Integrating the above inequality with respect to $\mu(d\theta)$ we have:

$$\int_0^1 \mu(d\theta) \int f^\theta g^{1-\theta} dx \le \int_0^1 (\int f)^\theta (\int g)^{1-\theta} \mu(d\theta).$$

Changing the order of integration on the left hand side of the above inequality we get:

$$\int L_{\mu}(f,g) \le L_{\mu}(\int f, \int g).$$

If μ is uniform on (0, 1), then we obtain the desired inequality.

Theorem 2.3. Let $X_1, X_2, ..., X_n$ be a supermartingale, then $Y_n = L_n(X_1, ..., X_n)$ is also a supermartingale.

Proof.

$$\begin{split} E[Y_{n+1}|F_n] \\ &= \int_{\theta_1 + \theta_2 + \ldots + \theta_n \le 1} X_1^{\theta_1} \ldots X_n^{\theta_n} E(X_{n+1}^{1-\theta_1 - \ldots - \theta_n}|F_n) d\theta_1 \ldots d\theta_n \\ &\le \int_{\theta_1 + \ldots + \theta_n \le 1} X_1^{\theta_1} \ldots X_n^{\theta_n} (E(X_{n+1}|F_n)^{1-\theta_1 - \ldots - \theta_n} d\theta_1 \ldots d\theta_n \\ &\le \int_{\theta_1 + \ldots + \theta_n \le 1} X_1^{\theta_1} \ldots X_n^{1-\theta_1 - \ldots - \theta_{n-1}} d\theta_1 \ldots d\theta_n \\ &= \int X_1^{\theta_1} \ldots X_n^{1-\theta_1 - \ldots - \theta_{n-1}} \int_0^{1-\theta_1 - \ldots - \theta_{n-1}} d\theta_n \\ &\le \int X_1^{\theta_1} X_2^{\theta_2} \ldots X_n^{1-\theta_1 - \ldots - \theta_{n-1}} = L_n(X_1, \ldots, X_n), \end{split}$$

thus the theorem follows.

Recursion Formula for Logarithmic Mean

Let $x_1, x_2, ..., x_n$ be *n* positive numbers. We define $M_n(x_1, ..., x_n)$ to be:

$$M_n(x_1, ..., x_n) = n! \int_0^1 x_1^{\theta_1} d\theta_1 \dots \int_0^{1-\theta_1 - \theta_2 - \dots - \theta_{n-1}} x_n^{\theta_n} d\theta_n, \ \sum_{i=1}^n \theta_i \le 1.$$

We already know that the logarithmic mean of $x_1, ..., x_n$ is given by:

$$L_n(x_1, ..., x_n) = (n-1)! \int_0^1 x_1^{\theta_1} d\theta_1 \dots \int_0^{1-\theta_1 - \theta_2 - \dots - \theta_{n-2}} x_{n-1}^{\theta_{n-1}} x_n^{1-\theta_1 - \dots - \theta_{n-1}} d\theta_{n-1}, \ \sum_{i=1}^n \theta_i = 1.$$

Proposition 2.4. $L_{n+1}(x_1, ..., x_{n+1}) = x_{n+1}M_n(\frac{x_1}{x_{n+1}}, ..., \frac{x_n}{x_{n+1}}).$

Proof.

$$\begin{split} &L_{n+1}(x_1, \dots, x_{n+1}) \\ &= n! \int_0^1 x_1^{\theta_1} d\theta_1 \dots \int_0^{1-\theta_1 - \dots - \theta_{n-1}} x_n^{\theta_n} x_{n+1}^{1-\theta_1 - \dots - \theta_n} d\theta_n \\ &= n! \int_0^1 x_1^{\theta_1} \dots \int_0^{1-\theta_1 - \dots - \theta_{n-1}} x_n^{\theta_n} \frac{x_{n+1}}{x_{n+1}^{\theta_1 + \dots + \theta_n}} d\theta_n \\ &= x_{n+1} n! \int_0^1 (\frac{x_1}{x_{n+1}})^{\theta_1} d\theta_1 \dots \int_0^{1-\theta_1 - \dots - \theta_{n-1}} (\frac{x_n}{x_{n+1}})^{\theta_n} d\theta_n \\ &= x_{n+1} M_n(\frac{x_1}{x_{n+1}}, \dots, \frac{x_n}{x_{n+1}}), \end{split}$$

hence the claim is established.

That is for n many arguments we have: $L_n(x_1, ..., x_n) = x_n M_{n-1}(\frac{x_1}{x_n}, ..., \frac{x_{n-1}}{x_n})$. Now,

$$M_{n}(x_{1},...,x_{n})$$

$$= n! \int_{0}^{1} x_{1}^{\theta_{1}} d\theta_{1}... \int_{0}^{1-\theta_{1}-...-\theta_{n-1}} x_{n}^{\theta_{n}} d\theta_{n}$$

$$= \frac{x_{n}n!}{ln(x_{n})} \int_{0}^{1} (\frac{x_{1}}{x_{n}})^{\theta_{1}} d\theta_{1}... \int_{0}^{1-\theta_{1}-...-\theta_{n-2}} (\frac{x_{n-1}}{x_{n}})^{\theta_{n-1}} d\theta_{n-1}$$

$$- \frac{n!}{ln(x_{n})} \int_{0}^{1} x_{1}^{\theta_{1}} d\theta_{1}... \int_{0}^{1-\theta_{1}-...-\theta_{n-2}} x_{n-1}^{\theta_{n-1}} d\theta_{n-1}$$

$$= \frac{nx_{n}}{ln(x_{n})} M_{n-1}(\frac{x_{1}}{x_{n}},...,\frac{x_{n-1}}{x_{n}}) - \frac{n}{ln(x_{n})} M_{n-1}(x_{1},...,x_{n-1}).$$

Thus we have:

$$\begin{split} L_n(x_1, \dots, x_n) &= x_n M_{n-1}(\frac{x_1}{x_n}, \dots, \frac{x_{n-1}}{x_n}) \\ &= x_n \left[\frac{x_{n-1}}{x_n} \frac{(n-1)}{\ln(\frac{x_{n-1}}{x_n})} M_{n-2}(\frac{x_1}{x_{n-1}}, \dots, \frac{x_{n-2}}{x_{n-1}}) - \frac{(n-1)}{\ln(\frac{x_{n-1}}{x_n})} M_{n-2}(\frac{x_1}{x_n}, \dots, \frac{x_{n-2}}{x_n})\right] \\ &= \frac{(n-1)}{\ln(\frac{x_{n-1}}{x_n})} x_{n-1} M_{n-2}(\frac{x_1}{x_{n-1}}, \dots, \frac{x_{n-2}}{x_{n-1}}) - \frac{(n-1)}{\ln(\frac{x_{n-1}}{x_n})} x_n M_{n-2}(\frac{x_1}{x_n}, \dots, \frac{x_{n-2}}{x_n}) \\ &= \frac{(n-1)}{\ln(\frac{x_{n-1}}{x_n})} \left[L_{n-1}(x_1, \dots, x_{n-1}) - L_{n-1}(x_1, \dots, x_{n-2}, x_n) \right]. \end{split}$$

Now we prove that our formula agrees with [8].

Since $L_n(x_1, ..., x_n)$ is symmetric, we have : $L_n(x_1, ..., x_n) = (n-1)! \int_0^1 x_2^{\theta_1} d\theta_1 ... \int_0^{1-\theta_1 - ... - \theta_{n-2}} x_n^{\theta_{n-1}} x_1^{1-\theta_1 - ... - \theta_{n-1}} d\theta_{n-1}$ and we write $M_n(x_2, ..., x_n, x_1) = n! \int_0^1 x_2^{\theta_1} d\theta_1 ... \int_0^{1-\theta_1 - ... - \theta_{n-1}} x_1^{\theta_n} d\theta_n$. Then the above proposition takes the form

$$L_n(x_1, ..., x_n) = x_1 M_{n-1}(\frac{x_2}{x_1}, ..., \frac{x_n}{x_1}).$$

By proceeding in similar manner we obtain:

$$\begin{split} M_n(x_2, \dots, x_n, x_1) &= n! \int_0^1 x_2^{\theta_1} d\theta_1 \dots \int_0^{1-\theta_1 - \dots - \theta_{n-2}} x_n^{\theta_{n-1}} d\theta_{n-1} \frac{x_1^{1-\theta_1 - \dots - \theta_{n-1}} - 1}{ln(x_1)} \\ &= \frac{x_1 n!}{ln(x_1)} \int_0^1 (\frac{x_2}{x_1})^{\theta_1} d\theta_1 \dots \int_0^{1-\theta_1 - \dots - \theta_{n-2}} (\frac{x_n}{x_1})^{\theta_{n-1}} d\theta_{n-1} \\ &- \frac{n!}{ln(x_1)} \int_0^1 x_2^{\theta_1} d\theta_1 \dots \int_0^{1-\theta_1 - \dots - \theta_{n-2}} x_n^{\theta_{n-1}} d\theta_{n-1} \\ &= \frac{x_1 n}{ln(x_1)} M_{n-1}(\frac{x_2}{x_1}, \dots, \frac{x_n}{x_1}) - \frac{n}{ln(x_1)} M_{n-1}(x_2, \dots, x_n). \end{split}$$

Hence we have:

$$L_n(x_1, \dots, x_n) = x_1 M_{n-1}(\frac{x_2}{x_1}, \dots, \frac{x_n}{x_1})$$

= $x_1 [\frac{x_n}{x_1} \frac{(n-1)}{\ln(\frac{x_n}{x_1})} M_{n-2}(\frac{x_2}{x_n}, \dots, \frac{x_{n-1}}{x_n}) - \frac{(n-1)}{\ln(\frac{x_n}{x_1})} M_{n-2}(\frac{x_2}{x_1}, \dots, \frac{x_{n-1}}{x_1})]$

$$= \frac{(n-1)}{\ln(\frac{x_n}{x_1})} [x_n M_{n-2}(\frac{x_2}{x_n}, ..., \frac{x_{n-1}}{x_n}) - x_1 M_{n-2}(\frac{x_2}{x_1}, ..., \frac{x_{n-1}}{x_1})]$$

$$= \frac{(n-1)}{\ln(\frac{x_n}{x_1})} [L_{n-1}(x_2, ..., x_n) - L_{n-1}(x_1, ..., x_{n-1})] \text{ for } n = 2, 3, ...;$$

-which is exactly the formula obtained in [8]. \Box

3. The L function

In this note, we write

(3)
$$L(x) = L(x, 1) = \int_0^1 x^{\theta} d\theta.$$

Properties: • L is continuous, strictly increasing and maps [0,1] onto [0,1] and $(1,\infty)$ onto $(1,\infty)$.

For
$$0 \le x \le 1$$
, $0 \le x \le L(x) \le 1$.
For $1 \le x \le \infty$, $1 \le L(x) < x < \infty$.

L(x) increasing and concave on $[0, \infty)$.

$$(L(x))^p \le L(x^p)$$
 (Holder), $p \ge 1$,
 $(L(x))^p \ge L(x^p) \ 0 , $|L(x) - L(y)| \le L(|x - y|)$.$

Indeed, $|x^{\theta} - y^{\theta}| \le |x - y|^{\theta}$, for $0 \le \theta \le 1$.

$$L(x+y) \le L(x) + L(y) \ as((x+y)^{\theta} \le x^{\theta} + y^{\theta}, \text{for } 0 < \theta < 1),$$

$$(\lambda \land 1)L(x) \le L(\lambda x) \le (\lambda \lor 1)L(x) \ \text{for } \lambda > 0.$$

Let $L^{(n)}$ denote the *n*-th iterate of L: $L^{(n+1)}(x) = L[L^{(n)}(x)]$. Then

$$1 - L^{(n)}(x) \le \frac{1}{2^n x} \quad 0 < x < 1,$$

$$L^{(n)}(x) \le 1 + \frac{x}{2^n} \quad 1 \le x < \infty.$$

Indeed, $L(x) \ge \sqrt{x}$, and by using induction we get $L^{(n)}(x) \ge x^{2^{-n}}$, so $1 - L^{(n)}(x) \le 1 - x^{2^{-n}} \le \frac{1}{2^n x}$ [in fact, $1 - x^{\theta} = \theta \int_x^1 y^{\theta - 1} dy \le \frac{\theta}{x} \int_x^1 dy \le \frac{\theta}{x}$]. If x > 1, we use $L(x) \le \frac{1 + x}{2} \le 1 + \frac{x}{2}$ and induction to see $L^{(n)}(x) \le 1 + \frac{x}{2^n}$, so that $L^{(n)}(x) - 1 \le \frac{x}{2^n}$ for x > 1.

Relationship between L(x, y) and L(x), L(y)

We observe the following:

when x < 1, x^{θ} decreases, when y > 1, $y^{1-\theta}$ decreases. when x > 1, x^{θ} increases, when y < 1, $y^{1-\theta}$ increases. when both x, y < 1, x^{θ} decreases, $y^{1-\theta}$ increases. when both x, y > 1, x^{θ} increases, $y^{1-\theta}$ decreases.

Thus,
$$x, y < 1$$
 implies $\int_0^1 x^{\theta} y^{1-\theta} d\theta \leq (\int_0^1 x^{\theta} d\theta) (\int_0^1 y^{1-\theta} d\theta)$, i.e $L(x, y) \leq L(x)L(y)$.
Similarly $x, y > 1$ implies $L(x, y) \leq L(x)L(y)$.

When one of them is less than 1 and the other one is bigger than 1

$$\int_0^1 x^{\theta} y^{1-\theta} d\theta \ge (\int_0^1 x^{\theta} d\theta) (\int_0^1 y^{1-\theta} d\theta), \text{ i.e } L(x,y) \ge L(x)L(y).$$

Lambert's Omega Function

In 1758, Lambert solved the trinomial equation $x = q + x^m$ by developing a series for x in powers of q, see [5]. In [3], Euler transformed Lambert's equation into the more symmetric form

(4)
$$x^{\alpha} - x^{\beta} = (\alpha - \beta)vx^{\alpha + \beta}$$

by replacing $x^{-\beta}$ for x and setting $m = \frac{\alpha}{\beta}$ and $q = (\alpha - \beta)v$. In [2], Corless argues that this led Euler to the following:

(5)
$$x^{n} = 1 + nv + \frac{1}{2}n(n+\alpha+\beta)v^{2} + \frac{1}{6}n(n+\alpha+2\beta)(n+2\alpha+\beta)v^{3} + etc.$$

After deriving this series, Euler observed the special cases, starting with $\alpha = \beta$. To see its implication in the original trinomial equation, Corless suggests us to divide (4) by $(\alpha - \beta)$ and then as $\beta \rightarrow \alpha$ we get

$$log(x) = vx^{\alpha}.$$

If we can solve equation (6) for $\alpha = 1$, then we can solve it for any $\alpha \neq 0$. To see this, multiply equation (6) by α , simplify $\alpha log(x)$ to $logx^{\alpha}$, put $z = x^{\alpha}$ and $u = \alpha v$. Thus we end up getting log(z) = uz, which is just equation (6) with $\alpha = 1$. To solve this equation using (5), Euler put $\alpha = \beta = 1$ and had a series $\frac{(x^n - 1)}{n}$. Next setting n = 0 he obtained log(x) on the left hand side and a series on the right hand side:

$$log(x) = v + \frac{2^{1}}{2!}v^{2} + \frac{3^{2}}{3!}v^{3} + \frac{4^{3}}{4!}v^{4} + \dots$$

This series, which converges for $|v| < \frac{1}{e}$, defines a function T(v) called the tree function. It equals $-\Omega(-v)$, where $\Omega(z)$ is defined to be the function satisfying $\Omega(z)e^{\Omega(z)} = z$. This function has many applications - in the enumeration of trees, in the calculation of water wave heights, in general relativity and quantum mechanics etc. Now here we would like to relate this very important function to our L function:

We start with $L(x, y) = \lambda$ iff $L(\frac{x}{\lambda}, \frac{y}{\lambda}) = 1$. And L(x, y) = 1 iff $xe^{-x} = ye^{-y}$ (i.e $yL(\frac{x}{y}, 1) = 1$).

Inverse of L and Lambert Omega function

Let L(x) = y. Then, $\frac{x-1}{\log(x)} = y$ iff $\frac{x-1}{y} = \log(x)$ iff $\frac{x}{y}e^{-\frac{x}{y}} = \frac{1}{y}e^{-\frac{1}{y}}$ iff $\rho(\frac{x}{y}) = \rho(\frac{1}{y})$, where ρ is defined as $\rho(\theta) = \theta e^{-(\theta-1)}$. We observe that ρ maps $[0,\infty)$ onto [0,1], ρ is strictly increasing on [0,1] and strictly decreasing on $[1,\infty)$ and $\rho(0) = 0$, $\rho(1) = 1$, $\rho(\infty) = 0$.

on [0, 1] and strictly decreasing on $[1, \infty)$ and $\rho(0) = 0$, $\rho(1) = 1$, $\rho(\infty) = 0$. Now let us consider Ω defined on [0, 1] by $\Omega(z) = \sum_{1}^{\infty} \frac{n^{n-1}}{n!} \frac{1}{e^n} z^n$, see [12]. It can be shown that : Ω is one to one, onto on [0, 1], $\Omega(0) = 0$, $\Omega(1) = 1$, $\Omega(\rho(\theta)) = \theta$, $\rho(\Omega(\theta)) = \theta$, i.e Ω and ρ are inverses on [0, 1].

 $\rho(x) = \theta$ has two roots as we have observed before and the unique root in (0, 1) is given by $\Omega(\theta)$. The solution of the equation $\rho(x) = \theta$ for $x \in (1, \infty)$ is quite hard to get and we cannot

find in the literature any approach to find this root. Here we show that the inverse of L helps solve this problem.

Let us again assume L(x) = y. This is equivalent to $\frac{x}{y}e^{-\frac{x}{y}} = \frac{1}{y}e^{-\frac{1}{y}}$, i.e $\rho(\frac{x}{y}) = \rho(\frac{1}{y})$. Recall that x < y iff y < 1 and x > y if y(and hence x) > 1. Thus,

$$\begin{split} L(x) &= y, \ x < 1\\ \text{iff } \rho(\frac{x}{y}) &= \rho(\frac{1}{y}) = \frac{1}{y}e^{-(\frac{1}{y}-1)}\\ \text{i.e } \frac{x}{y} &= \Omega[\frac{1}{y}e^{-(\frac{1}{y}-1)}]\\ \text{i.e } x &= \Omega[\frac{1}{y}e^{-(\frac{1}{y}-1)}] = \Omega(\rho(\frac{1}{y})) \end{split}$$

Thus, on [0,1], the inverse of L is $\Omega(\rho(\frac{1}{y})) = \sum_{1}^{\infty} \frac{n^{n-1}}{n!} (\frac{1}{y}e^{-\frac{1}{y}})^n$. Thus we have proved that $\rho(a) = \rho(b)$ iff $ae^{-a} = be^{-b}$ iff L(a,b) = 1 iff $bL(\frac{a}{b},1) = 1$ iff $L(\frac{a}{b}) = \frac{1}{b}$. And if b < 1 (or $\frac{a}{b} < 1$), $\frac{a}{b} = \Omega(\rho(\frac{1}{b}))$.

Recall that L(x) = y iff $\frac{x}{y}e^{-\frac{x}{y}} = \frac{1}{y}e^{-\frac{1}{y}}$, i.e $\rho(\frac{x}{y}) = \rho(\frac{1}{y})$. As observed before, given $\theta \in [0, 1]$ has exactly two roots: $\rho(z_1) = \rho(z_2) = \theta$, one in [0, 1], and the other one in $[1, \infty)$. We know $z_1 \wedge z_2 = \Omega(\theta)$, i.e the smaller root is $\Omega(\theta)$.

Theorem 3.1. Let $\theta \in [0, 1]$. Then $\Omega(\theta) \in [0, 1]$. Let x be such that $L(x) = \frac{1}{\Omega(\theta)}$. Then $x\Omega(\theta)$ is the larger root.

Proof. We write $y = \frac{1}{\Omega(\theta)}$. Then since L(x) = y, $\rho(\frac{x}{y}) = \rho(\frac{1}{y}) = \rho(\Omega(\theta)) = \theta$. Since, y > 1, x > 1, and L(x) = y implies x > y, so $\frac{x}{y} > 1$ and hence $\frac{x}{y}$ is the largest root, concluding the proof of the theorem.

The above theorem shows that finding the inverse of L on $[1, \infty)$ finds the larger root of $\rho(z) = \theta$. Of-course $\Omega(\theta)$ is the smaller root. Thus the inverse of L is of interest.

Theorem 3.2. If L(x) = y and y < 1, then $x = y\Omega(\theta)$ where $\theta = \rho(\frac{1}{y}) = \frac{1}{y}e^{-(\frac{1}{y}-1)}$.

Proof. L(x) = y iff $\frac{x}{y}e^{-(\frac{x}{y}-1)} = \frac{1}{y}e^{-(\frac{1}{y}-1)} = \theta$. Say $\theta \in [0,1]$. If y < 1, then x < y, so $\frac{x}{y} \in [0,1]$. Thus $\Omega(\theta) = \frac{x}{y}$, since $\rho(\frac{x}{y}) = \theta$, and $\frac{x}{y} < 1$. Hence, $x = y\Omega(\theta)$ and the theorem follows.

We do not know a formula for $L^{-1}(x)$ if x > 1. Now, we give an iterative procedure for obtaining L^{-1} .

Let x > 1: L(x) = y means $\frac{x-1}{\log(x)} = y$, or $x - 1 = y\log(x)$. We write x - 1 = z to get $z = y\log(1+z), z \ge 0$. That is z is a fixed point of the function $f(z) = y\log(1+z), z \ge 0$.

Claim 1. f(z) is strictly increasing in $[0, \infty)$ and maps the interval $[y - 1, y^2]$ into itself.

Proof. (1) f(z) is strictly increasing is clear.

(2) f(y-1) = ylog(y) > y - 1 is seen by differentiation.

(3) It is seen by differentiation that $\sqrt{\xi} - log(1 + \xi)$ is increasing in $[0, \infty)$. It follows that $log(1 + \xi) \le \sqrt{\xi}$, hence $f(z) \le y^2$ if $z \le y^2$. Thus, f maps $[y - 1, y^2]$ into itself.

Since f is increasing and f maps $[y-1, y^2]$ into itself, the iterates $x_n = f^{(n)}(y-1)$ increases to a fixed point (with $x_0 = y - 1$).

Claim 2. *f* has a unique fixed point in $[y - 1, \infty]$.

Proof. Let $\rho(z) = z - f(z)$. If $\rho(z)$ has two zeros $z_1, z_2 \in [y - 1, \infty)$, with $z_1 < z_2$, then by Rolle's Theorem $\rho'(z) = 0$ for some $z \in (z_1, z_2)$. But $\rho'(z) = 0$ if and only if z = y - 1.

Convergence Rate: We saw above that the iterates x_n converges to a fixed point. We have:

14

$$\begin{split} x_{n+1} - x_n &= y \log(1 + x_n) - y \log(1 + x_{n-1}) \\ &= y \log[1 + \frac{x_n - x_{n-1}}{1 + x_{n-1}}] \\ &\leq y \frac{x_n - x_{n-1}}{1 + x_{n-1}} \text{ (because } \log(1 + z) \leq z) \\ &\leq y \frac{x_n - x_{n-1}}{1 + x_1} \text{ (as } x_n \text{ is increasing)} \\ &= \frac{y}{1 + y \log(y)} (x_n - x_{n-1}) \text{ (as } x_1 = y \log(1 + x_0) = y \log(1 + y - 1) = y \log y) \\ &= \alpha (x_n - x_{n-1}) \text{ (where } \alpha = \frac{y}{1 + y \log(y)} < 1 \text{ if } y > 1). \end{split}$$

Thus, the convergence rate is exponential.

We can also use the fixed point method to find the inverse of L in (0, 1). Let us consider $y \in [0,1]$. We want to find x such that L(x) = y. Let $f(x) = \frac{x}{L(x)}y$, $0 \le x \le y$. If x < 1, L(x) > x, so f(x) < y. Thus f maps continuously [0, y] into itself. So it has a fixed point. We know it is unique as L is strictly increasing.

f is increasing. $f'(x) = y[\frac{1}{L(x)} - \frac{x}{L^2(x)}L'(x)] = \frac{y}{L^2(x)}[L(x) - xL'(x)].$ Claim: L(x) - xL'(x) > 0 in (0, 1).In fact, $L'(x) = \int_0^1 \theta x^{\theta - 1} d\theta$, so $xL'(x) = \int_0^1 \theta x^{\theta} d\theta < \int_0^1 x^{\theta} d\theta = L(x)$. Hence, $f^{(n)}(x)$ converges to the fixed point for any 0 < x < y.

REFERENCES

- [1] B. C. CARLSON, The logarithmic mean, Amer. Math. Monthly, 79 (1972), pp. 615-618.
- [2] R. M. CORLESS, G. GONNET, D. HARE and D. KNUTH, On the lambert W function, Adv. Computational Math., 5(4) (1996), pp. 329-359.
- [3] L. EULER, De serie lambertina plurimisque eius insignibus proprietatibus, *Leonhrdi Euleri Opera* Omnica, Ser 1, Opera Mathematica, 15 (1921) (orig date 1779), pp. 350-369.
- [4] G. H. HARDY, J. E. LITTLEWOOD and G. PÓLYA, *Inequalities*, Cambridge University Press, Cambridge, 1959.
- [5] J. H. LAMBERT, Observationes variae in mathesin puram, Acta Helvetica, physico-mathematicoanatomico-botanico-medica, 3 (1758), pp. 128-168.
- [6] T. P. LIN, The power mean and the logarithmic mean, Amer. Math. Monthly, 81 (1974), pp. 879-883.
- [7] B. MOND, C. E. M. PEARCE and J. PEČARIĆ, The logarithmic mean is a mean, *Mathematical* Communications, 2 (1997), pp. 35-39.
- [8] S. MUSTONEN, Logarithmic mean for several arguments, (2002) [Online: http://www. survo.fi/papers/logmean.pdf
- [9] EDWARD NEUMAN, The weighted logarithmic mean, Journal of Mathematical Analysis and *App.*, **188** (1994), pp. 885-900.
- [10] C. E. M. PEARCE, J.PEČARIĆ and V. ŠIMIĆ, On weighted generalized logarithmic means, Houston Journal of Math., 24 (1998), pp. 459-465.

- [11] A. O. PITTENGER, The logarithmic mean in n variables, *Amer. Math. Monthly*, **92** (1985), pp. 99-104.
- [12] MURALI RAO, The generalized binomial theorem, *CRM proceedings and lecture notes, complex analysis and potential theory*, (2011), pp. 315-320.
- [13] K. B. STOLASKY, Generalizations of the logarithmic mean, Math Mag., 48 (1975), pp. 87-92.